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PSCYCHOLOGY

Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All

questions are compulsory.

1. Among the following descriptions of major defense mechanisms, which one describes

‘projection’ ?

(A) Assigning logical or socially desirable motives to that we do.

(B) Directing a motive that cannot be gratified in one form into another channel.
(C) Denying that an unpleasant reality exists.

(D) Assigning our own undesirable qualities to others.

2.  Match the items of List — I (Theory) with List — I (Explanation) and mark your answer
with the help of the codes given below :

List -1
(Theory)

p. Doctrine of specific 1.
nerve energies

q. Frequency theory 2.
. Purkinje effect 3.
s.  Law of Pragnanz 4.
Codes :
p q r S
(A 2 1 4 3
B) 3 4 1 2
© 2 1 3 4
(D) 3 4 2 1

List - II

(Explanation)
The basilar membrane vibrates as a whole to the
frequency of the sound wave.
The sensation elicited by stimulus depends
primarily on the nerve excited and secondarily on
the stimuli.
Refers to the tendency to perceive the simplest
and the most stable figure of all possible
alternatives.
The illumination decreases owing to the shift
from photopic cone vision to scotopic rod vision.

3.  Engram involves many physical changes. They are
1. Change in number of receptor sites.
2. Change in the transmission system.
3. Changes in the sensitivity of the synapse through repeated stimulation.
4.
5.

Changes in the dendrites.

Changes in the neuron structure.

Codes :
(A) 1,3and4
(C©) 1,2and4

Paper-I11

(B) 3and>5
(D) 2and 4
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4.  Match List — I with List — II and indicate your answer with the help of codes given below :

List -1 List - II
(Counselling Skills) (Features)
p.  Self-disclosure 1.  Telling the client to view the problem from an
alternate perspective.
q. Directive 2. Explaining to the client the logical outcomes of
sequential thinking.
. Reframing 3. Counsellor discloses about  personal
experiences from the past.
s.  Logical consequences 4.  Telling the client how to go about solving the
problem/crisis.
Codes :
p q r S
(A) 4 3 2 1
B) 3 4 1 2
< 2 1 3 4
(D) 1 2 4 3

5.  Read each of the following two statements : Assertion (A) and Reason (R) and indicate
your answer using the codes given below :
Assertion (A) : Freud’s theory holds that many behaviours are caused by unconscious

motivation. Personality is determined by biological drives of sex and aggression.

Reason (R) : Personality differences results from variations in learning experiences.
Codes :
(A) Both (A) and (R) are true and (R) is correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)is true, but (R) is false.
(D) (A)is false, but (R) is true.

6.  Match the items in List — I with List — II and mark your answer using the given codes :

List -1 List - II
(Therapy) (Clinical Condition)
p.  Cognitive Behaviour Therapy 1. Anxiety disorders
q. Exposure Techniques 2. Post-traumatic stress disorder
r. Dialectic Behaviour Therapy 3. Depression
s.  Eye-movement desensitization and 4.  Borderline personality disorder
reprocessing
Codes :
p q r S
(A) 3 1 4 2
(B) 4 2 3 1
<o 2 4 1 3

D) 1 3 2 4

7.  Which of the following are the physiological reactions to stress ?

1.  Decrease in metabolic rate. 2. Dilation of Pupils
3. Lower Blood Pressure 4.  Increased heart rate
(A) 2and4 (B) 1,2and 4

(C) 1,3and4 (D) 2,3and 4
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8.  According to Albert Bandura any behaviour produces two sets of consequences. They are

1.  Inhibition 2. Self-evaluation
3. External outcomes 4.  Habit
(A) land?2 (B) 3and4
(C) 2and3 (D) 1land4
9.  The degree to which one can control an event the stress and inability to predict
the occurrence of an event usually the stress.
(A) increases, increases (B) increases, decreases
(C) decreases, increases (D) decreases, decreases

10. Match List — I (Studying Motivation) with that of List — II (Explanation) and mark your
answer with the help of the codes given below :
List -1 List - II
(Studying Motivation) (Explanation)
p Behaviouristic Approach 1. Interpersonal relations with community.
g- Humanistic Approach 2. Incentives rewards and punishment.
r Cognitive Approach 3. Actualising needs.
S Socio-cultural Approach 4 Behaviour is determined by our thinking
and attribution

Codes :

p q r S
(A) 2 3 4 1
B) 3 2 4 1
<O 1 2 4 3
D) 1 3 2 4

11. Read each of the following two statements Assertion (A) and Reason (R) and indicate
your answer using the codes given below :
Assertion(A) : People with external locus of control are prone to learned helplessness.
Reason (R) : People with internal locus of control believe that intelligence is changeable
and they work at developing new strategies.
Codes :
(A) Both (A) and (R) are true and (R) is correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

12. According to problem space theory, a problem solver generally operates through three

states; , the goal state and all possible
(A) Pre state; final state. (B) First state; outcome state
(C) Initial state; outcome state (D) Initial state; intermediate state

13. According to self-determination theory of motivation given by Ryan and Deci, the three
inborn and universal needs are
(A) Autonomy, Symmetry and Competence.
(B) Symmetry, Competence and Relatedness.
(C) Autonomy, Competence and Relatedness.
(D) Competence Relatedness and Order.
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14. Physiological psychologists distinguish between thirst and thirst which
result from an increase in the concentration of solutes and low blood pressure respectively.

(A) Osmotic, Hypovolumic (B) Osmotic, Hypervolumic
(C) Hypovolumic, Osmotic (D) Hypervolumic Osmotic
15. Sternberg’s Triarchic theory identifies types of components; are used to
plan, control and monitor in problem solving.
(A) Three, Meta components (B) Four, Performance
(C) Problem solving, Knowledge (D) Several, Acquisition components

16. Read each of the following two statements-Assertion (A) and Reason (R) and indicate
your answer using the codes given below :
Assertion (A) : Environments that influence educational and cultural opportunities
enhance crystallized intelligence.
Reason (R) : Crystallized intelligence is developed through stimulating fluid intelligence.
Codes :
(A) Both (A) and (R) are true and (R) is correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

17. Read each of the following two statements Assertion (A) and Reason (R) and indicate
your answer using the codes given below :
Assertion(A) : We use mental short-cuts to solve problems.
Reason (R) : Problem solving includes thinking.
Codes :
(A) Both (A) and (R) are true and (R) is correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

18. Match the items of List — I (concept) with List — II (originator) and mark your answer with
the help of the codes given below :

List -1 List - II
(Concept) (Originator)
p.  Personology 1.  George Kelly
g. Individual Psychology 2. H.J. Eysenck
r. Personal Construct theory 3.  Henry Murray
s.  Biological Trait theory 4. Gordon Allport
Codes :
P q r S
(A) 3 4 1 2
B) 1 2 3 4
< 2 3 1 4
(D) 4 1 2 3
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19.

20.

21.

22,

Which of the following are the characteristics of NREM sleep ?
1. Decrease in heart rate.

2. Increase in breathing rate.

3. Muscles are relaxed.

4.  Increase in Brain’s metabolic rate.

Codes :
(A) 1 and 3 are correct. (B) 2 and 3 are correct.
(C) 1 and 4 are correct. (D) 2,3 and 4 are correct.

Match List — I with List — II using the codes given below :
List -1 List — II
(Concept/Phenomenon) (Examples/Description)

p.  Morpheme 1. Adjective before the noun

q. Phoneme 2. Conclusion of statements

r. Syntax 3.  Break

S. Syllogism 4. ‘D or ‘A’

Codes :
p q r S

(A) 3 4 1 2

B) 3 4 2 1

< 4 3 2 1

(D) 4 2 3 1

The 30 x 30 correlation matrix, representing the correlation among the thirty facet scales
of the NEO-PI-3 were factor analyzed by three methods :

1. Principal components method
2. Maximum likelihood method

3. Principal axes method and the five factors were extracted in each case. Usually the
variance explained by the factor solution would be in the following ascending order.

(A) 2,3,1 B) 1,3,2
© 21,3 D) 3,2,1

Pituitary gland is called master gland because
(A) Hormones secreted by Posterior Pituitary regulate the activities of other glands.
(B) Hormones secreted by Anterior Pituitary regulate the activities of other glands.

(C) Hormones secreted by both Posterior and Anterior Pituitary regulate the activities of
other glands.

(D) TItislocated in the Central Nervous System.

Paper-I11 10 D-04-14
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23.

24.

25.

26.

27.

Using Sternberg’s theory as the reference, Match List — I with List — II and choose the
correct code :

List -1 List - II
(Components) (Type)
p.  Experiential 1. Analytic
g. Contextual 2. Creative
I. Componential 3. Practical
4. Successful
Codes :
P q r
(A) 3 4 2
B) 2 3 1
© 2 4 3
D) 2 1 3

A study employed two groups, matched on intelligence, each group with 30 subjects. Each
subject was required to learn a list of CVC trigrams and the number of trials required to
learn the list was the dependent variable. What would be the degrees of freedom if a
suitable t test is used to evaluate the mean difference ?

(A) 29 B) 30

(C) 58 (D) 60

states that allocating
decreases level of motivation.
Codes :
(A) Two factor theory; extrinsic; not
(B) Theory X; monetary; intrinsically
(C) Cognitive evaluation theory; extrinsic; intrinsically
(D) Theory Y; financial; selectively

rewards for behaviours previously rewarded

Read each of the following two statements : Assertion (A) and Reason (R) and indicate

your answer using the codes given below :

Assertion (A) : The orbital frontal cortex and the basal ganglia, especially the caudate
nucleus, are the brain structures most often implicated in obsessive compulsive
disorder.

Reason (R) : Reduced metabolic activity has been found in both the orbital frontal cortex
and the caudate nucleus in people with obsessive compulsive disorder.

Codes :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

A 17 year old woman has been binging on large quantities of food, above and beyond,
what most people would eat under similar circumstances. She then engages in purging
behaviour as often as 3 or 4 times a week. She feels she has no control over it. The results
of her physical examination are normal and she is of normal weight.

She is most likely suffering from
(A) Anorexia nervosa (B) Bulimia nervosa
(C) Binge-eating disorder (D) Eating disorder not otherwise specified
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24.

25.

26.

27.
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A 3 4 2
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C 2 4 3
® 2 1 3
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(C) ‘oStz fo@r (D) 3=3T afoTa 7 Tohar T WisT et foer
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28.

29.

30.

31.

32.

33.

Which of the following are characteristics of Charismatic leaders ?

1. Vision and Articulation 2. Risk taking behaviour

3. Volatile moods 4.  Sensitivity to followers’ needs
Codes :

(A) 2,3&4 B) 1,2&4

) 1,3&4 (D) 1&4

What would be the degrees of freedom for the second-order interaction effect in a
3 x 3 x 2 factorial design ?

(A) 2 (B) 4

© 9 (D) 18

Which of the following are features of Borderline Personality Disorder ?
1. Affective instability

2. Lack of remorse

3. Impulsivity

4.  Self-mutilation

5. Over concern with order and rules.

Codes :
(A) 1,2and3 (B) 1,3 and 4
(C) 1,2,4and>5 (D) 2,3,4and 5

Read the following two statements : Assertion (A) and Reason (R) and indicate your

answer using the codes given below :

Assertion (A) : A major function of the perceptual system is to keep the appearance of
objects the same inspite of change in the stimuli.

Reason (R) : The posterior brain system selects objects on the basis of location, shape or
colour and the anterior system is responsible for guiding the process.

Codes :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Social Psychology focuses on and their .
(A) Individuals; feelings (B) Groups; experiences
(C) People; feelings (D) People; thoughts

Arrange the following stages of Friendship in the order given by Selman :
L Two-way fair-weather cooperation.

II. Momentary playmateship.

III.  Autonomous interdependence.

IV. Intimate, mutually shared relationship.

V. One-way assistance.

Codes :

(A) ILIV,V,IIL I (B) LILV,IV,II
(©) ILV,LIV,III (D) V,LIV,ILII
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34.

35.

36.

37.

38.

39.

Memory problem that people with dementia, including Alzheimer’s, typically have is
called :

(A) Psychogenic amnesia (B) Reterograde amnesia
(C) Reteroactive amnesia (D) Anterograde amnesia

Problem solving comprise of different stages which refer to the sequence of
(A) Preparation; illumination; incubation; verification.
(B) Incubation; preparation; illumination; verification.
(C) Preparation, incubation; illumination, verification.
(D) Preparation, incubation, verification, illumination.

Which one of the following theories predicts that work motivation will be low if employee
perceives that increased effort will have little or no effect on his/her performance ?

(A) Just World Theory (B) Need-Drive Theory
(C) Expectancy Theory (D) Normative Theory

In which of Piaget’s stages of development would a child be when he has just developed
object permanence ?

(A) Sensorimotor (B) Pre-operational
(C) Concrete operational (D) Formal operational.

Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Individuals who display disexecutive syndrome are unable to take
decisions, are easily distracted and show tendency toward perseveration.

Reason (R) : Individuals with extensive injuries to the temporal lobes show deficits in
their executive functions.

Codes :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

A psychologist wanted to study marital love between husbands and wives in arranged and
love marriages. Fifty arranged marriage couples and fifty love marriage couples were
randomly chosen and both, the husbands and wives, were administered Marital Love
Scale. The data should be analyzed by

(A) Factorial ANOVA for independent groups.
(B) Factorial ANOVA for repeated measures.
(C) Mixed factorial ANOVA.

(D) Randomized one-way ANOVA.
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34.

35.

36.

37.

38.

39.
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40.

41.

42,

43.

Match List — I with List — II and indicate your answer with the help of the codes given :

List -1 List - II
(Roles) (Description)
p. Liaison 1.  Transmits information to different members of the
organisation.
g. Disseminator 2.  Responsible for representing the organisation at major
transactions.
I. Negotiator 3. Maintains a network of outside contacts who provide
favours and information to the organisation.
s.  Entrepreneur 4.  Searches around for opportunities and also starts
innovative projects
Codes :
p q r S
(A) 3 1 2 4
(B) 4 2 1 3
© 1 3 4 2
(D) 2 1 3 4

According to Negative State Relief Model, people provide help to others because :
1. People provide help to others to regulate their moods.

2. Helping is a means to momentarily boost emotion.

3. People provide help due to the fear of the consequences of help.

4. It bolsters their spirit over long periods.

Codes :
A) 1,2,3 B) 2,3,4
© 1,2,4 (D) 1,3,4

Which is the one that is not a ‘Big Five’ factor of personality ?
(A) Extraversion (B) Psychoticism
(C) Conscientiousness (D) Agreeableness

Read each of the following two statements — Assertion (A) and Reason (R) and indicate

your answer using the codes given below :

Assertion (A) : Transpersonal psychotherapy views man as a spiritual being, views
consciousness as central to therapy and emphasizes emotions, feelings and
experimental aspects of the client.

Reason (R) : Self-acceptance, flexibility, recognition and awareness are some important
concepts of Rational Emotive behaviour therapy.

Codes :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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44.

45.

46.

47.

48.

49.

Read each of the following two statements — Assertion (A) and Reason (R) and indicate

your answer using the codes given below :

Assertion (A) : Organizational justice is perception of what is fair in the workplace
composed of distributive, procedural and interactional justice.

Reason (R) : Employees have greater tolerance of overpayment inequities than
underpayment inequities as part of distributive justice.

Codes :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

A strategy designed to gain favourable response to a small request at first, with the intent
of making the person more likely to agree later to a larger request is known as

(A) Compliance (B) Door-in the face

(C) Foot-in the door technique (D) Obedience

The Visual Placement Tests conducted by Held and Hein were specifically intended to

study

(A) Development of depth perception.

(B) Relationship between sensory feedback resulting from self-initiated movement and
perceptual development.

(C) Motor development.

(D) Discrimination learning.

Which one of the following is not a correct elaboration of reading strategy in the field of
literature ?

(A) C for careful reading

(B) A for aim of reading

(C) P refers to problem identification

(D) S refers to solution of the problem

Read each of the following two statements — Assertion (A) and Reason (R) and indicate

your answer using the codes given below :

Assertion (A) : The objective of mastery goals in students is to improve, learn, seek
challenges and persist inspite of difficulties.

Reason (R) : Teachers can stimulate mastery goal orientation through the techniques of
self-monitoring, self-improvement and deeper understanding of subject.

Codes :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Temporary support that parents provide to a child to do a task until the child can do it
alone, is termed as

(A) Ageism (B) Induction

(C) Scaffolding (D) Power assertion
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50.

S1.

52.

53.

Read each of the following two statements — Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Children of permissive-indulgent parents tend to the impulsive,
aggressive, inconsiderate and demanding.

Reason (R) : Permissive-indulgent parents are high on warmth, discipline and control.
Codes :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Rogers in his Person Centred Counselling approach emphasizes and

(A) Empathy; Sympathy

(B) Experiential focussing; Unconditional positive regard
(C) Congruence; Sympathy

(D) Unconditional Positive Regard; Empathy

According to the frequency of their occurrence, arrange the following in ascending order :

1.  Alpha waves 2.  Beta waves
3.  Theta waves 4.  Delta waves
(A) 4,3,1,2 B) 3,4,1,2
< 2,1,3,4 D) 2,1,4,3

Match the items of List — I (Theory) with List — II (Description) and mark your answer
with the help of the codes given below :

List -1 List - II
(Theory) (Description)
p. Theory of Signal 1. Sensory subjective magnitude grows in proportion to
Detection the intensity of the stimulus raised to a power.
q. The Fechner Law 2. The minimal amount of stimulus energy required for

a detection of a stimulus.
r. Absolute Threshold 3.  Evaluation of the separate effects of the observer’s
sensory capacity and response bias.

s. Stevens Power Law 4.  Larger and larger inputs in stimulus energy are
required to obtain a corresponding sensory effect.

Codes :

p q r S
(A) 1 2 3 4
B) 1 2 4 3
< 3 4 2 1
D) 3 2 1 4
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53.
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54.

5S.

56.

57.

58.

59.

Match List — I with List — II and select the correct answer using the codes given below :

List -1 List - II
(Hypothalamic Area) (Effect of Lesion)
p.  Lateral pre-optic area 1. Deficit in physiological mechanisms of
temperature regulation.
q. Pre-optic area 2. Deficit in drinking
I. Ventromedial hypothalamus 3.  Under eating, weight loss and low
insulin level
s.  Lateral hypothalamus 4.  Increased meal frequency, weight gain
and high insulin level
Codes :
|% q r S
(A) 4 3 1 2
B) 3 4 2 1
© 2 1 4 3
D) 1 2 3 4
Down syndrome is associated with which of the causal factor ?
(A) Trisomy 18 (B) Trisomy 12
(C) Trisomy 21 (D) Trisomy 14

Salient features of classical conditioning are

1.  Responses are voluntary.

2. Based on principle of association by contiguity.

3.  Antecedent stimuli are important in forming association.

4. Goal is to increase the rate of an already occurring response.
5. Goal is to create a new response to stimulus.

Codes :

(A) 2,3and5 (B) 1,3and4

(C) 2,3,4and>5 (D) 1,3,4and5

In which part of the brain does classical conditioning take place ?
(A) Reticular formation (B) Amygdala

(C) Cerebellum (D) Hypothalamus

Read each of the following two statements — Assertion (A) and Reason (R) and indicate

your answer using the codes given below :

Assertion (A) : Conditioning fails to occur when unconditioned stimulus and conditioned
stimulus are paired in a random order.

Reason (R) : Cognitive processes involving expectation play an important role in classical
conditioning.

Codes :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Arrange the following in order of sequence of career planning and decision making :

1.  Educational awareness 2. Career exploration
3. Self-awareness 4.  Career awareness
Codes :

(A) 3,4,1and?2 (B) 3,1,4and?2

(C) 1,3,2and4 (D) 2,4,1and3
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54.

5S.

56.

57.

58.

59.

et — [ gt — 11 | GATAT T 3R UT F FH STIRT FXd g Fel S BT T HITT :

e -1 = - 11

(TS &1T) (frerfa o1 wrame)
p.  oieXel M-siiftess &= 1. am fafEe & IR aF §
q. W-efifes e 2. g Al
r. SIHEEd TEUNdTy 3. ®H @M, B a9 AR T A 30T TR
5. oleXel gy 4. ITET o TR, I F gy 3R TG HT 3T TR
FT:

P q T S
A 4 3 1 2
B 3 4 2 1
@ 2 1 4 3
D 1 2 3 4
= 4 @ ‘sre fagm = =y fhg HROTE & 2
(A) TEEE 18 (B) Zr=dH 12
(C) ZrEdmE 21 (D) a4
MG S B! T fagivand f=fared ¢
1. St i ¢ |
2. W 9 9EEd % ESid U SEd
3. gEwd FET A ghedr SEue Hewol & © |
4. B W e dTelt STeRAT Sl 5T T F@IT ST T A8 BT € |
5. SEITE % folT 7 Sfar o g o oo BT ¢ |
?A{) 2,335 (B) 1,3 3T4
(C) 2,3,43R5 (D) 1,3,4 35
Ak & fFg T § FoAleenid STae g g ?
(A) TR wHIH (B) ufmmeen
(C) e (D) eI

frtafad s et - e (A) 3R 9% (R) i UigU 31X = ST T $i T SYFNT X g«

SO IO SIS

AU (A) : ST ST SEUH 3T TS LU Bl ATG w9 h9 H JFAT fohar ST &,
q ST e & I € |

A% (R) : FANTRE L | TN Aot WIS THH0T 3t Hewaqul JfHeR et § |

C YAN

(A) (A) 3T (R) 3HT TEl & 3R (R), (A) B Tel AT & |

(B) (A) 3R (R) T W&l &, AT (R), (A) T Hel AT 781 & |

(C) (A) Tl &, e (R) T € |

(D) (A) T &, wifeh (R) Tl ¢ |

HRA TS 27 Folg oF & gay o Frefafiad 1 e 3 e S

1. Srefiores STeTeehdl 2. hIET =TI
3. WE-STEST 4.  hIT ST
Fe:

(A) 3,4,132 (B) 3,1,43WR2

(C) 1,3,23T4 (D) 2,4,13WR3
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60. Match List — I with List — II and indicate your answer using the codes given below :

List -1 List - II
(Models of memory) (Theorists)

p. Levels of processing 1.  Atkinson and Shiffrin

q-  Working memory 2. Tulving

r. Modal model 3. Craik and Locklart

s.  Multistore model 4.  Baddeeley and Hitch
Codes :

P q r S

(A) 4 3 2 1
B) 2 1 3 4
<o 1 2 4 3
D) 3 4 1 2

61. According to Tolman, the three parts of learning that work together as Gestalt are

1. Significant 2. Habit strength 3. Sign
4.  Means-end-relationship 5. Drive strength

Codes :

(A) 2,3and5 (B) 3,4and5

(C) 1,2and3 (D) 1,3and 4

62. Match the items in List — I with items in List — II and mark your answer with the help of
the codes given below :

List -1 List — 11
(Attachment Style) (Attachment Characteristic)
p.  Avoidant attachment 1. Infant, after separation from primary

caregiver, shows contradictory behaviour
upon his or her return.

g.-  Secure attachment 2.  Infant rarely cries when separated from the
primary care/giver and does not make
contact upon his or her return.

r. Disorganized-disoriented 3.  Infant cries when primary caregiver leaves
attachment and actively seek the caregiver upon his or

her return.
s.  Ambivalent (resistant) 4.  Infant becomes anxious before the primary
attachment caregiver leaves, is upset during the absence

and seeks at the same time avoids contact
on his or her return.

Codes :
p q r S

(A) 1 3 2 4

B) 3 2 4 1

C) 4 1 3 2

(D) 2 3 1 4
63. Which one of the following is not a correct way of stimulating creative thinking ?

(A) Brainstorming (B) Keep adiary

(C) Mind mapping (D) Offering money
64. Short term memories are stored in which part of the brain ?

(A) Cerebellum (B) Amygdala

(C) Hippocampus (D) Prefrontal cortex
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60.

61.

62.

63.

64.

Tt — I @1 gt — 11 1 GH HITSTT T4 TR el bt Teraal | 37O ST ST L |

e -1 = - 11

(St & ufae) (RrgT=a=)
p.  UHHU H WX 1. Ueiha aun fwRa
q. HEER 9 2. Tefte
r. Hed aae 3. ShIZeh q9T Alhelle
s.  Sg-UURFIR Ufqeq 4, A qen &"
H

P q r S
A 4 3 2 1
B 2 1 3 4
© 1 2 4 3
D 3 4 1 2
T & AR TRETeE & &9 H Ueh 1Y 1 3 oot ATy o o e &
1. W(Signiﬁcant) 2. %‘%E@}T 3. %l?q(Sign)
4.  HEA-GTE-HEY 5. SR BA
ETt
(A) 2,335 (B) 3,435
(C) 1,233 (D) 1,334
A — 1 & gt — 1§ GAfeTd HIT 3R U8 F & Tat 3T T T4 DI :

e -1 = - 11

(SrETHE redt) (== fergieam)

p. UGN e 1. 30 TS SEECTRAT & STeTT B % A% 9] S9%
Y 2 T IR {oR)ie} e Seiar ¢ |

q. T erEHe 2. 3T WA IEHTeAhal 9 3Tl BiF IX 919 9 & et

el & AT ST AGH 3 o 1% SHY THyeh &l el |
r. fogmica-smfa=taa 3. e Il % el ST % g {9 e & 3R
Cicachira IEYTARAT % ST 3T WX Alshardl ¥ 39 Ggl € |
5. JVIERT (MAAre) steTHe 4. WA @Il o S o Ugel T STeifeRd e g,
ST IR & IR T W Tl & 3T 3qH cAle

W T SEH T T & WY & qeh el ¢ |

E T

p q 1 s
(A 1 3 2 4
B) 3 2 4 1
< 4 1 3 2
D) 2 3 1 4
feAferie & @ -1 U GorTensh o ol HicaTied s 1 Tel il Tal € ?
(A) ST (B) =R T
(C) HATETh UFIHHTeheoT (D) €7 1 U&dTE T
STCUHITCTeh Tfaar AieTsh & fohe 9T & Wi/ fed erdl & ?
(A) Wi (B) ufgreem
(C) FEwrhmg (D) Yd 31 Tohe (VIsh=ol o)
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65.

66.

67.

68.

69.

70.

Match List — I with List — II and indicate your answer by using the codes given below :

List -1 List - II
(Concept) (Description)
p.  Heuristics 1. Judgements made on the basis of specific kind of
information that can be brought to mind.
g- Representative 2. Tendency to use a number of value as a starting
Heuristics point to whom one adopts.
. Availability Heuristics 3.  Simple rules for drawing inferences in a rapid
and effortless manner.
s.  Anchoring and 4.  Judgements made on the basis of resemblance of
Adjustment Heuristics current stimuli to other stimuli.
Codes :
p q r S
(A) 3 1 4 2
B) 3 4 2 1
< 3 4 1 2
(D) 4 3 1 2

A readiness to make a particular perceptual response or class of responses to particular
organizations of stimuli is called

(A) Perceptual vigilance (B) Perceptual constancy

(C) Perceptual set (D) Perceptual style

In a 2 X 2 factorial design, with A and B as the two IVs, the F ratio ‘MS, | p/MS;’ is

statistically significant. It implies that

(A) there is cross-over interaction.

(B) there is disordinal interaction.

(C) there is either cross-over or disordinal interaction.
(D) there are both disordinal and cross-over interactions.

Read each of the following two statements — Assertion (A) and Reason (R) and indicate

your answer using the codes given below :

Assertion (A) : Inaccuracy among eye-witness occurs with the passage of time between
witnessing an event and testifying about what was seen and heard.

Reason (R) : Witnesses are always exposed to misleading postevent information from
police, news stories and statements made by others.

Codes :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

From among the following who theorized mostly on the concept of ‘achievement
motivation’ ?

(A) Rogers, C.R. (B) Julian Rotter

(C) David McClelland (D) Frankl, V.E.

Concepts that closely matches the defining characteristics of a concept are known as
(A) Formal concepts (B) Natural concepts

(C) Prototype (D) Subordinate concepts
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65.

66.

67.

68.

69.

70.

A — [ gEt — 1 9 Goferd ST 3R A ST 7T Fel S ST e §U 3101 3R SIS :

= -1 = - 10
(Fuaa) (ferarom)
p. @HIaE 1. OfEs O g ST g arell [afTe TR ol gaT & MR T
fore T ot
q. Ufamtys @rfas 2. 6l gRT S0 MU oY fog % w9 W 3 qodl 1 SuAnT
F B uga

r. W Wi 3. 3 3R VAMER ek § AW Moo &g 9me Ha
s. U 3R GHMESH 4. I09H SEUAT 1 317 SEOT 9 91 o 3MER WY foe e oty

L2IERIEED
A
p q 1 s
(A) 3 1 4 2
B) 3 4 2 1
< 3 4 1 2
(D) 4 3 1 2

AT o oo TeAT o wia fdl fovie wTeateren efsRaT St SfshaTetl & ol Wi ARy i

e fEfafad O @ w41 heerdl & 2

(A) VTS Fechar (B) viTcateTes feeran

(C) wrcaferss 9 (D) WTcTRTsh et

T 2 X 2 HRHI AWHeT H A AR B T &1 [V & 7G0T 61 T, “MS,, , o/MSy’ T8 F 3

Tiferehia &9 T qdH ¢ | 3T 37 & —

(A) HIE-HE SAHAE |

(B) fewanteter arfshar € |

(C) hE-3MiaX 1 fegantenet 4 ¥ U rfhar € |

(D) ohE 3o 3 feqanteTer gy SF=ishar & |

frferfaa 2t Fet. o (A) 3T T (R) 1 9T iR A fow 7T g @ ST w 7w

WWW:

AMTHYA (A) : TS D TR 3 TN T Tl 3@ o G- o T THARIA & T I9HRlS
TETET ot AR TRy el & |

aF (R) : TAIRIT IS Tl T Gferd 9 ool GomT, THER-US § Ui TeRi q9r 3=
Tl o BT F T FEAT BT € |

HT :

(A) (A) 3T (R) 3T TEl & 3R (R), (A) T Tel AT & |

(B) (A) 3T (R) 3H1 Wel &, W (R), (A) Tt Hel =T el ¢ |

(C) (A) T E W< (R) T ¢ |

(D) (A) T &, W] (R) T T |

=1 4 @ fFmm Suctfsy ShpRom & Ture & fagra faior w eifussiem: e e g 2

(A) T, T3, (B) Sferad X

(C) zfus TwFicis (D) Whehet, AT,

ﬁw%ﬁw@ﬁ%ﬁwﬁﬁmwawm@ﬁis%ﬁ%ﬁ%wﬁ

SIET AT & :

(A) U Gued (B) e v

(C) WidRET (D) 3T WY
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Instructions for Q. Nos. 71 to 75.
Read the following paragraph and answer the five questions that follow :

An anxiety researcher, working in the interaction model of anxiety, wanted to factor
analyse anxiety-producing situations. He had a hunch that anxiety-producing situations would
broadly belong to two categories — inter-personal-evaluative and physically-threatening. His
tool, assessing situation-specific anxiety, had 14 situations. For each situation, the subject was
required to indicate on 11 five-point rating scales as to how he or she would respond in that
situation. Thus for each situation scale, the minimum score would be 11 and the maximum score
would be 55. The correlation matrix among the 14 situation scales was formed. Two factor
analyses were carried out on this correlation matrix. In the first factor analysis, unities were
retained in the diagonal spaces of the correlation matrix and the un-rotated factors were
extracted. Using Cattell’s scree plot, three factors were retained for rotation. The rotated factors
had small or moderate inter-factor correlations. In the second factor analysis, appropriate
communality estimates were inserted in the diagonal spaces of the correlation matrix and the
three factors were rotated using the same rotation method, used in the same factor analysis.

71. Cattell’s scree plot is a
(A) Plot of the order of Eigen values on X axis and the actual Eigen values of the
reduced correlation matrix on Y axis.
(B) Plot of the order of Eigen values on X axis and the actual Eigen values of the
unreduced correlation matrix on Y axis.
(C) Plot displaying variables using the first two factor as axes.
(D) Plot of the order of the factors on X axes and the factor loading on Y axis.
72. In the first factor analysis, while factor analyzing the 14 X 14 correlation matrix, which
one of the following four factor extraction method, has probably been used ?
(A) Maximum likelihood method
(B) Principal axes method
(C) Principal components method
(D) Confirmatory factor analysis method
73. Out of the following four factor rotation methods, which method/s can yield the above

results ?

1.  Oblimin rotation 2. Varimax rotation
3. Promax rotation 4.  Quartimax rotation
(A) 1 only (B) 1 and?2 only

(C) 1and3only (D) 3 and4 only

74. Which one of the following statement is true ?
(A) The first factor analysis used component model; the second factor analysis used
common factor model.
(B) The first factor analysis used common factor model; the second factor analysis used
principal component model.
(C) Both, the first and second factor analyses used component model.
(D) Both, the first and second factor analyses used common-factor model.

75. Which one of the following statement is true ?
(A) The second factor solution would explain more percent of variance.
(B) The second factor solution would explain less percent of variance.
(C) Both factor solutions would explain same percent of variance.
(D)  Such prediction is not possible.
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7T e 71 9 75 % e e
fefefEd TR 1 afeT 3 39 o1 ure F9T & 3T% SIS :

TS AT STTHHhT VAT o ST=IIhaT Hieel H 1 S gU STl UaT s aTell et =t
T TP HEAT ATeaT o7 | ST UHT M o {5 S UsT e arett et samaes a0 31 Sifory -
STAIATHIP - oA 3R ARIRS T F 9 a1 A aredt et | ferfq-fafere gféean = siewe
T S U 14 et o | e Rt 3 et o @ T v o B L Urg-fag @l FER-ATE
Tg 3ifehd Y o o8 AT Tt o b WepR SFTohaT ST/l | 0 Wb, Uedish ReTd-HToH & =AaH 37
11 83X fueham 3k 55 8 | 14 Fefq Amtar o Gedsy Afesy fiha fFar @ | 39 Jegey Afce
W T FHRb [TTATT THT T | YT HRb [ITAT0T H Tedae Higrq o foeholt ST | Shreal ol 1@ T
3T TIOTT PRk FHHTel T | et o hi-iie T STANT FXd U U & o HReT i 7@ T | o
FHRE h B 3T T STNHRHT Fedad o | TH HRb faveiuor § Teday Aieed & fapot wm &
T THEdT FEROTT (Communality) SFHFT S TATerd fohar a1 3 @AM gu fafer 1w s
T T SHREhT T U TohaT 1T, T Re fovetsor | JanT foham T |
71. FeA FH Th Wi FEAAET &

(A) X g W TH-T % 5T N T 3R Y G-t W A Tedey Bz & o $i-9e9 |

(B) X {0l W -l o 55 o i 3R Y g W ST Fedae HiRT o areiash $i- 9o |

(C) ¥t % ®T H TIT 3 HRbI BT YA I §T = I USRI A el T |

(D) X g3 T HRbT % T FHl i XY g7 W e ST |
72. VH HRE [GO9ATT H 14 x 14 Tegey By H HRE G sd a9 FEfaiad 9’ HReE

TeheT fafy o Svad: o U o1 U=t fohar mar & 2

(A) iR wEheige Hag

(B) Tfauer ufrew voe

(C) Mt wHiHeT Age

(D) FHH FaRT TATATHT HIS
73. TrefeiEd ar ®Re quiH fafud 9 SE-dr fafu/fatat swied aiomg § et & 2

1. e goi 2. e Yo
3. W gue 4. SO gUH
(A) FaA | (B) HaeA 1 32
(C) HoeT 1 33 (D) hae 3 A4

74, TEfAREd & HH-91 F2UF T § 2
(A) Vo9 PR [ITu0r § FHHEHS Higet H ST [HAT M7, T HRb [I9euor § ATei-HRS
TSt T YA TohaT T4 |
(B) V" SR fG¥Iu0T § QIS HRE HSeT H ST FHaT T, T HRb favetgor & ffdquer
FHHE HSeA T YA [T T |
(C) v\ W 5T - ST SR faveluon § IS Higet 1 ST fhar T |
(D) Y\ R T§dg - HT SR faveloon T HT — e Hieel ST SUANT 6T T4 |
75. Tfefad @ @ $H-91 F2H 9§ 2
(A) T5c SR TITeIooT URROT i S1eh HiaeTaar i T T |
(B) Tgcii SReh Ta9eiooT URROT i A UTdRTear i T T |
(C) T R TaTeITUT FEROT i THIT Ua9TaaT i T HAT |
(D) UH YAAM 9T T ¢ |
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